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X1 CONCURSO DE PRIMAVERA DE MATEMATICAS

TABLA DE SOLUCIONES (12 Fase)

> <|l<|O|lo|lulolu|lu|<|lw|lo]lo|aolo|o]|w

T

=

=z o — AN o™ < Lo ({o] N~ [e 0] ()] o — (qV} (2] < L0
— — — — — — — — — — AN N N [9V} AN N

= Sd RN NaR N ENOE EITRNGENRRITRNOE NaRNOR R ARITRRS)

T

=

Z (e} — [9\} o < Lo O N~ (o] (@)} o — AN (2] <t L0
— — — — — — — — — — (q\] [e\] (9V} AN [9\} (q\]

= ojlolaomj|]ol<<|wWw|lolololw|oOo|<<|W|wWw

T

=

< o — AN o™ < Lo ({o] N~ [e 0] ()] o — (qV] (2] < L0
— — — — — — — — — — AN N N [9V} AN N

= Wl OoQA|<<|O|C|lnj << m|O|AO

S

Z
o — AN o™ <t Lo (o] N~ (o] D o — (QV} (92) <t L0
— — — — — — — — — — (9V} AN (9V} [9V} (9V} AN




	D
	D
	A
	A

